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Question #1:Circle the correct answer 4.5 'Pf
1) The solution of the equation logs 2 + 2logs x = logy(7z — 3)

a) £=3
@:{:z%, =23
c) 332%

d) z=1

2) Let f(z) =% z <0. Find the derivative of f~*(z) at x=4

=3
o
Lo o -1 o S 1

3) [ sec(b5z)dz,

a) :In|tan(bz)|+c
@é In |sec(5x) + tan(5z)| + ¢
c) 5ln|sec®(5z)| + ¢

d) 5ln|sec(5z) + tan(5z)| + ¢



Question #2: Find the derivative of the inverse function of f(z) =z +sinzatz == < ]D"_
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Question #3: Selected values of a strictly increasing function g(z) and g'(z) are shown on the
table below. Find Q‘SP,,L

—
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Question #1:Circle the correct answer H5 Pt
1) The solution of the equation In(z® —22? —z) —Inz =1n2

:1:=3

b) 2=3, 2=-1, 2=0
c) z=-1

d) =38, #=-1
2) Let f(z) = 23 + 2z — 3. Find the value of a if f~!(a) = 2
()
b) 1
c) 2
d) Does not exist
3) If y = z'™=, then ¢/(e) =

a) 0

b) 1
()2
d) e



Questmn #2:Given the following function

()IIF—%/»‘*Q"Q?VM

9 Pk ) Find f(a) ]S e Plx)= - <o
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x = (9f — 4= (-4
1) = ()
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Question #1:Circle the correct answer 4.5 Pb
1) If y = Iny/tan z, then the value of gg-at 2:_51;"'*—__—__“

a) 10
(o1
c) 0

d) &=

2) The solution of the equation

In(z) + In(z — 2) = In(z + 10)

a) {—2,5}

£

C) {_5: 2}

3) tan~! (tan?r).

a) =i

4
4

c) &
)

4

d

Does not exist



Question #2:Given the following function

()1\/‘_,__;J_Sﬁ""l?? \/Q

i 2(|~>§-(-0 = *Q(I*)
} —-9-(93 =[]
@ (C)F)l _ =~_——Dfm|\f—'
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'f.P,c) Sketch f(z) and f~(z)
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Question #1:Circle the correct answer 2
1) The solution of the equation Inz —In(z—1)=1

a) =10

b) m=1, 2 =10
c) z=5

d) z=25

d) Does not exist

3) If J‘ sec2!2z!

tan(2z)
LIn|tan(2x)| + ¢

b) 3 In|sec(2z) + tan(2z)| +c

¢) 3n|sin(2z)| + ¢



Question #2:Let f(z) = 2— 2 S j:g P. \ __,| ?? Y@j

/;S:,PL a) Determine f~(z) Since :?\(K) = ——"%. s
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